Year 2 - Autumn Block 4 — Multiplication and Division

Use Arrays
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Intfroduction

Match the pictures to the correct number sentence. r
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[ 1x7=7 ] [ 2x4=8 ] [2x5=10]
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Infroduction

Match the pictures to the correct number sentence.
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[ 1x7=7 J [ 2x4=8 J [2x5=10}
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Varied Fluency 1

Tick the correct calculation to maich the array.
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Varied Fluency 1

Tick the correct calculation to maich the array.
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Varied Fluency 2

True or false? The array below shows 2 x 7.
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Varied Fluency 2

True or false? The array below shows 2 x 7.

False, it shows 2 x 8.
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Varied Fluency 3

Circle the two calculations that match the array below.
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Varied Fluency 3

Circle the two calculations that match the array below.




Varied Fluency 4

Use the array to complete the calculations below. F
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Varied Fluency 4

Use the array to complete the calculations below. F
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Reasoning 1

Use the array to find the odd one out.

A. 6 lots of 4

Explain your answer.




Reasoning 1

Use the array to find the odd one out.

A. 6 lots of 4

Explain your answer.

B is the odd one out because...




Reasoning 1

Use the array to find the odd one out.

A. 6 lots of 4

Explain your answer.

B is the odd one out because the array does not show 4 x 7.




Reasoning 2

Tobias is making an array.

My array shows 2 lots
of 7 and 7 lots of 2.

A

Is he correct? Explain your answer.
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Reasoning 2

Tobias is making an array.

My array shows 2 lots
of 7 and 7 lots of 2.

A

Is he correct? Explain your answer.

Tobias is incorrect because...
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Reasoning 2
Tobias is making an array. r
q
| 00000000
| He says, 00000000

My array shows 2 lots
of 7 and 7 lots of 2.

A

Is he correct? Explain your answer.

Tobias is incorrect because his array shows 2 lots of 8 and 8 lots of 2.
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